< O X > (um) for PV

<oy > (um) for PV

Ratio

<9z > (um) for PV

Ratio

N
o
o

150f---+ee -t

100f++++5+e k4

0 5 10 15 20

Vertex z (cm)

<ox> (um)

Ratio

S50 5 10 15 20

Vertex z (cm)

< d x > tor merged vertices (um)

Ratio

a
o

N
o
TT T T [ T T T T[T 1T

=
o

o
I8
N

N
o
TT T T[T T

w
o
I

Ol b aa Lo b Jna s o Jaaa Ly

=
T

Vertex z (cm)

D
_._Dé
—— D

T CRF _UKRIG

M_TT _CKFLowPt

&

=70

OXx
T

M TT _CKFLowPt

+

P
i

510 15 20
Vertex z (cm)

[~ IR N | 1L 1 A PP P P 1 1 M AP P
oA~
o : ] : S :
| B,
i b L 10 Y
¥ Tk :
L :
H

<+l

-4

S5 =15 =16

5 1
Vertex z (cm)

<oy > (um)
.
o o

|
N
o

|
w
o

Vertex z (cm)

Vertex z (cm)

< dy > for merged vertices (um)

Ratio

< d z > tor merged vertices (um)

Ratio

|
=
o

[

|
N
o

I

=50

100

B D ®
o o o

N
o
T[T T T[T T T[T T T[T T T[T TT[TTT[TTT

-20

0.5

o

1
w
o

I

|
N
o

I

510 15 20

Vertex z (cm)

o

S5 =i5=10 -5

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


